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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct choice.

1. What is the largest number that divides 245 and 1029, leaving remainder
51n each ?

(a) 15 (b) 16 (© 9 (d) 5 1

2.  Consider the following distribution :
Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Frequency | 10 15 12 20 9

The sum of lower limits of the median class and the modal class is
(a) 15 (b) 25 () 30 (d) 35 1

.430/3/1.| 3 P.T.O.
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3. 3l 60° W Feh! & T3l @Y 3 §.HY. B arct Uk o1 W @i S &, a1 Teeh Tt W@ e
SCIEEE

(2) 3 (b) ‘32@ ot ©) 33 &t (d) 6 1
1095 R

4. 1168 HT U{AdH &Y 3 :
@ 3¢ ®) 22 © 1o @ 12 1

5. 38! YR H el T8 52 Ul <h ATl 3hi TEN H § Teh Ul ATGosdl Hehlall T | Teh T[T
% 3T <Y Tfrehel T B 2

3 3
@ 35 ®) 25 © 13 @ =5 1

6. ATHfga@agIg (k—1) 22 +kx+ 1 HTHIITH -4 Ak BIAAR :

5 5
@ 3 O © —3 @ 3 1

7. =9 9 9 H 9T T i 9id <¥Hed o ®9 H oe9d oA ST HehdT 8 7

124 131 2027 1625
@ 765 () “59° © 625 @ 462 1
8. A odAP, (22 + 5x— 9) FIYIAH &, Al ap FIAFE :
5 5 9 9
(@ -3 (b) 5 © -5 d 5 1

9. 39 oy forereh =M feig (0, 4), (0, 0) T (3, 0) I HTARATR

(a) 7T+/5 ®) 5 © 10 ) 12 1
.430/3/1.| 4
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3. If the two tangents inclined at an angle of 60° are drawn to a circle of
radius 3 cm, then the length of each tangent is :

(a) 3cm (b) 3—\2E cm (c) 3\/§ cm (d) 6cm 1
. 1095 .
4. The simplest form of 1168 18
17 25 13 15
@ 96 ®) 96 © 716 @ 76 1

5.  One card is drawn at random from a well — shuffled deck of 52 cards.
What is the probability of getting a Jack ?

3 3
@ 35 ®) 25 © 13 @ =5 1

6. If one zero of the quadratic polynomial, (k — 1) x2 + kx + 1 is —4 then the
value of k is

@ 3 O © ~3 @ 3 1

7.  Which of the following rational numbers is expressible as a terminating

decimal ?
124 131 2027 1625
@) 165 ®) T30 © 625 (d) 462 1

8. If o and B are the zeros of (2x2 + 5x — 9), then the value of of is

(@) 3 OF © —4 @ 5 1

9. The perimeter of a triangle with vertices (0, 4), (0, 0) and (3, 0) is
(a) 7+/5 ®) 5 ) 10 d) 12 1
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(a, -b)qUT (3, b) Fe=higha |
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(cos? 45° + cot? 45°) HTANF &
(tan 27° — cot 63°) HTHAH &
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T TE&T 16-20 § e wwA1 o I i

25
aﬁsece=7 2, I cot O T T 1A I |

AYA

3sin0+2cosH
aﬁ?’tane_4%’?ﬁ(381n9—2cose) 1 HH A HIT |

14 9f} fr e a1t 99 & T Forsuee 1 aiw 68 w2 | 39 s w1 g% 9|
o |

e
Tsh 1 <1 TR 39.6 At & | SHHT &t T1d HIT |
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10.

11.

12.

13.

14.

15.

16.

17.

If P(-1, 1) is the midpoint of the line segment joining A(-3, b) and
B(1, b + 4), then b 1s equal to

(a) 1 (b) -1 (c) 2 d o

In Question numbers 11 to 15, fill in the blanks :

Distance between (a, —b) and (a, b) is

The value of k for which system of equations x + 2y = 3 and 5x + ky = 7
has no solution is

The value of (cos2 45° + cot? 45°) is
The value of (tan 27° — cot 63°) is

If ratio of the corresponding sides of two similar triangles is 2:3, then ratio
of their perimeters is

Answer the following questions, Question numbers 16 to 20.

If sec 6 = % , then find the value of cot 6.

OR

381n9+20089)
3sin0O—2cosO

If 3 tan 6 = 4, then find the value of (

The perimeter of a sector of a circle of radius 14 cm is 68 cm. Find the
area of the sector.

OR

The circumference of a circle is 39.6 cm. Find its area.

.430/3/1.| 7 P.T.O.
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19.

20.

21.

22.

IS AT 1 Teh A A=D1 AT 1 | WGkl HTd I o6 TAT 1o 398, 0
ST 7 |

i 1 H, Tk fAyst ABC 1 qsiiati AB e AC WskAS: fog D 91 E 36 Yo ferd
2% DE || BC? | 9f¢ AD = 3.6 &#fi, AB = 10 &t @21 AE = 4.5 &t 8, a1 EC a1
AC 31 i |

A

B > C
TR 1
Iqfe 3y — 1, 3y + 5 qYUT 5y + 1 Tk GHIR 1 o 3hith U &, 1 y o1 T F1d hIFT |

wWE -4

9T G 21 9 26 T TAh Y & IhH Hh1 3 |

T It § 5 oATel, 8 The qUT 7 Hieh e E | It F W U e ArgesaAr febedt T8 |

() W AATHSTHRR |
(i) HhREICTR 2 |

<1 9T Ueh {1 3BT MW | TH1 IrEl W 3= — f9=1 gamd 31 <hl IiiRiesdr 3ima shifag |
AU

T 9 Teh H1Y IDT T | SHT UTE T 3T Tedt GEI13T Bl AN 9 T ARk 8 <hl
TTRrehar ST <hifre |
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probability that chosen letter is a consonant. 1

18. A letter of English alphabet is chosen at random. Determine the

19. In Fig. 1, D and E are points on sides AB and AC respectively of a AABC
such that DE || BC.

If AD = 3.6 cm, AB=10 cm and AE =4.5 cm, find EC and AC. 1
A

Fig. 1

20. If 3y — 1, 3y + 5 and 5y + 1 are three consecutive terms of an A.P., then
find the value of y. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. A bag contains 5 red, 8 white and 7 black balls. A ball is drawn at random
from the bag. Find the probability that the drawn ball is

(1) red or white

(11) not a white ball 2

22. Two dice are thrown at the same time. Find the probability of getting

different numbers on the two dice. 2
OR

Two dice are thrown at the same time. Find the probability that the sum

of the two numbers appearing on the top of the dice is more than 9. 2

30, 9 PO




23.

24.

25.

26.

217.

28.

3TehTd 2 H U I Teh FAYS ABC o 3T=id ST 711 & S satt BC, CA @91 AB &1
A Togati P, Q 39T R W& d 2 | 9 AB = 10 &1, AQ =7 & a1 CQ =5
it 2 | 91 BC Y wams 7 i |

A

B C

P
AT 2

forg FifSw \/secze + cosec?0 = tan 0 + cot 0

AYA

in 0
g hilvT - - = (cosec 0 + cot 0)

1—cos6

@ BT, T ek T 3ATAA 216 B Tl 8, o Tt thofehl ol THATTSh Ueh BT ST
ST & | 39 ST 1 901 J¥R &% Fd I |

p % o A F1d hifTe [eh fote fgama et x2 — 2px + 1 = 0 I3 ardiae qd
T B |

g e -1
T3 TEAT 27 9 34 0k TAH I 6 3 376 & |

Ifg 1 U1 -2, 959G (x® — 4x2 — Tx + 10) I @, AN ST AHU I T 1T |

3 Tt e o1 weh o WY | 99 o ohg @ 7 T 1 g R R e foig € 9 g T
[T %! AT HINT |

JrerEn
8 Trft TS 1 Uk [WTEUE Wifew au1 38 3 : 4 % U § faurfia Hifsr |
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23.

24.

25.

26.

217.

28.

In Fig. 2, a circle is inscribed in a AABC, touching BC, CA and AB at P, Q
and R respectively. If AB=10 cm, AQ =7 cm and CQ = 5 cm then find the
length of BC.

Fig. 2

Prove that : \/sec20 + cosec?d = tan 0 + cot 0
OR

sin 0

Prove that : 77 5~

= (cosec 0 + cot 0)

Three cubes each of volume 216 cm?® are joined end to end to form a
cuboid. Find the total surface area of resulting cuboid.

Find the values of p for which the quadratic equation x2 — 2px + 1 = 0 has
no real roots.

Section - C

Question numbers 27 to 34 carry 3 marks each.

If 1 and —2 are the zeroes of the polynomial (x* — 4x2 — 7x + 10), find its
third zero.

Draw a circle of radius 3 cm. From a point 7 cm away from its centre,
construct a pair of tangents to the circle.

OR

Draw a line segment of 8 cm and divide it in the ratio 3 : 4.

.430/3/1.| 11 P.T.O.




29.

30.

31.

32.

33.

34.

T AR I 9 Th GHETE BYS & &9 4 dier w0 a1 gqd 12143 o S 1 e
fterg g1aT 2 | afe g AR 1 Tk 99 % F9 § ISl T &, o I hi e @ antt ¢

i cos 6 sin O .
g :(1—tan9)+(1_cot9)—(COSO+sm9)
AT

forg HISTT : (sin 0 + cosec 0)2 + (cos O + sec 0)2 = 7 + tan20 + cot20.

afe R g fr /2 T st g 2, < fag SRt RE (7 — 24/2) T siiE TEn |
arran

TS TUEUEA faf¥r & 44, 96 @1 404 &1 9.9, (HCF) F1d I | 374: $71 9.9

(LCM) STa =hifsu |

forg Hifsre fop foreht a1 % whora Teiat =gy Foegds BT ® |

a3 1 fopet et U W@ S (desks) i e cuilé 78 2 | Snfymn, Wt den

3ren shAe: Tt A, B aen C wadl @ | eyl o 3w difre

(i) Ta HIfY fop o AT erefrai wm S @ H 9 |

(i) afe A, B C @ £ @t 91 hifse fr fog B, Wamave AC =1 fre srgum &
fervrior sear 2 |

10
9 :
g *
6 ch
£ s
B
4
3 (]
2 e e ‘
1 CAL ‘ B i
o ™ ; 4
1 2 3 4 567 8 91
WY
JTR-3

Gl 3Thi Shl Ueh TREAT o 37eh1 o1 ANTHA 10 7 | Jfc T&IT H | 18 T2l fam Sme ar 37t &
T YeTe Jd 8 | §&AT [ <hITT |
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29.

30.

31.

32.

33.

A wire when bent in the form of an equilateral triangle encloses an area of

12 1\/?3 cm?. If the same wire is bent into the form of a circle, what will be the
radius of the circle ?

cos 0 sin O

Prove that (1— tan 0) + (1— cot 0) = (cos 0 + sin 0)

OR
Prove that (sin 0 + cosec 0)2 + (cos 0 + sec 0)2 = 7 + tan20 + cot20.

If \/5 1s given as an irrational number, then prove that (7 — 2\/5) 1s an
irrational number.

OR

Find HCF of 44, 96 and 404 by prime factorization method. Hence find
their LCM.

Prove that the parallelogram circumscribing a circle is a rhombus.

In Fig. 3, arrangement of desks in a classroom is shown. Ashima, Bharti
and Asha are seated at A, B and C respectively. Answer the following :

(1) Find whether the girls are sitting in a line.

(1) IfA, B and C are collinear, find the ratio in which point B divides the
line segment joining A and C.

10
9
8
7
w O
4
: o
2 - — ‘
1 A :
0 1 234 5 6 7 8 910
Columns
Fig.-3

34. A number consists of two digits whose sum is 10. If 18 is subtracted from

the number, its digit are reversed. Find the number.

.430/3/1.| 13 P.T.O.




35.

36.

37.

38.

39.

40.

TE -d

99 &1 85 9 40 Tk TS YT H 4 36 3 |

Fe foenfefa 3 fussfre T M 6t AeHT 9918 | @F &1 Fe e 3 2,000 T TR W
5 Tt o 7 31 W ufa foeneff @@ W w= T 20 9¢ T | fora fermmeff fussfaes ww
eI Tk feremeff 3 @ & fore fepafi fwr & 2

Teh THTAL ! o TUT 6 UGl 1 AN 42 & | 39 109 Ug a7 30  9g H 37U 1 : 3 I
2 | 39 GHIAC It o1 TUH UE 9T 1397 Ue J1d i |

AU
100 3T 300 < &= <ht gt forwq Taanati &1 IThe F1a it |

7 M. 3 o o RE 8 Tk heae e o @ 1 3= I 60° & R 35 IS i
ST I 45° 7 | T ol s T i | R R A3 = 1.732 )

firg ITT o Ueh wrwreh1on iaget o 0l oh1 ol 91 Q1 WSt o6 =it o I % S AT @ |
areran
fag Hifsr for foreht amer foig & g7 = wfi=h 7 woet Tl 61 wamgat swer &t £ |

Teh TR TThe! oh clTeh Tordeh! YT 21 F.H. B, % Teh Heteh ol 37T hi I T HIHT
Teh 37 MAThR TEET 39 YhR ST T7 3 foh 318 TMiet 61 =318 o4 o fohal & e 7 |
I o< 3IE T A 1A I |

AU

12 9.1, =918 qu1 15 8.1, 978 9Tt T 9Tq o 319 Soi i TUeelieht Teh el W
FeEriTud 3 forsen < g S 12 el # gren m | Tt i frsen qen Raes #i

T SIS AT Shifore Tafep fea & o6 wip i Samg saeht e A da i 2 |

T 3rfenel o1 H1e 39 IS
it 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
ARARAT 5 10 18 30 20 12 5
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35.

36.

37.

38.

39.

40.

Section - D

Question Nos. 35 to 40 carry 4 marks each.

Some students planned a picnic. The total budget for food was ¥ 2,000 but 5
students failed to attend the picnic and thus the cost for food for each member
increased by T 20. How many students attended the picnic and how much did
each student pay for the food ?

The sum of first 6 terms of an A.P. is 42. The ratio of its 10th term to 30th
term 1s 1:3. Find the first and the 13th term of the A.P.

OR
Find the sum of all odd numbers between 100 and 300.

From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60°, and the angle of depression of its foot is 45°. Find the

height of the tower. Given that \/?3 =1.732.

In a right triangle, prove that the square of the hypotenuse is equal to sum
of squares of the other two sides.

OR

Prove that the tangents drawn from an external point to a circle are equal
in length.

A hemispherical depression is cut out from one face of a cubical wooden
block of edge 21 cm, such that the diameter of the hemisphere is equal to
edge of the cube. Determine the volume of the remaining block.

OR

A solid metallic cylinder of diameter 12 cm and height 15 cm 1s melted and
recast into 12 toys in the shape of a right circular cone mounted on a
hemisphere of same radius. Find the radius of the hemisphere and total
height of the toy, if the height of the cone is 3 times the radius.

Find the mean of the following data :

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency | 5 10 18 30 20 12 5

.430/3/1.| 15
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